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Full Marks : 80
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct option : 1x10=10
TS AT % Tech! AR Seret :
(a) is the author of the book,

Fundamentals of Industrial Sociology.
Fundamentals of Industrial Sociology
AFITT (T R

() M. N. Srinivas
. @, FfRIEA

(i) Nivedita Menon
T

(iij) Gisbert Pascal
fa5a16 ccE

(iv) A. R. Desai
9. W4, ¢MIg
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(2)

(b) is a characteristic of
post-industrial society.

Teg- S STIER «B1 SR 2R )

(i) Process Production
Riftsre Beoimm

(i) Bonded Labour
T A

(iii) Phratry
G7F (SRS

(iv) Plough
cfo-f

. {c) Pollution has become a serious concern
in industrialization after

SR (Fqe ___ 1 Pre ot qbl
CTRICN 7 (R AR |

(i) Stockholm Conference in 1972
3Ry AfEW, S5ay

(i) World Economic Forum in 2022

R weftafs W, 3033

(iii) UN Meet, 2020
8. . AfE, 030

(iv) Geneva Conference in 1978
C&eTel AFER, Ssav
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(d)

(e)

22A/401

(3)

is first planned industrial city in

India.
___ (xr SRR WA e Soafie
5241
(i) Bokaro
I
(ii) Bhillai
(iii) Jamshedpur
GRS

(iv) Dhanbad
4 ]qm

The main difference between the
pre-industrial and modern industrial
city is
J-Srme o we- @mﬁas BR® W
AL (2R
(i) heterogeneity

f&q e
(i) size

e
(iiij) composition

AW
(iv) mobility

sifsReTel
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(4)

() Due to the industrial revolution, the
worker came to be separated from the
means of production, resulting in

e Rudd Too fieTea Beoim A&ioq
o) o2 02, I FoTe __J I8 RfeE |
(i) anomie

a1y

(ii) alienation

(iii) poverty

wiRgel

(iv) revolution
Rem

(g9 One of the main features of industrial
society is
ST TG @1 24 CaREs tarr
(i homogeneity in population
GRS
(ii) secular outlook of people
TP GfFEcrFeR To

(iii) impersonality of relationships

RIS oo

(iv) transience
FRA
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(S)

(h) In the industrial society, since status is
determined by achievement is
possible.

e e I [ oS e Fawht
R ol

(i) acculturation
PO I

(ii) social mobility
IR aifeMerer
(iii) migration
2o
(iv) role conflict
PR ey
(i) Bureaucracy is characteristic of
society.
SCAEAICF ____ IS 5 |
() agrarian
FRAYW T
(ii) tribal
TGO IS
(iii) industrial
e DERBI
(iv) primitive
A5l TS
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(6)

G) is the preferred means of protest
adopted in the modern industrial
society.

TI-SUTAE SIS 2% T TR feve

— (R AL |

(i) Spontaneous outburst
Fors ReeRd

(i) Candle march
TRIS CorerTar

(iij) Organized and disciplined group
protest
RIS W *R3eTT AR R

(iv) Ringing bells
o1 |

2. Answer the following questions : 2x5=10
©o opTRs Teq i

(@) What is the difference between
industrialization and urbanization?

@mﬁtmquﬁ?mamonamﬁﬁm

(b) Define industrial sociology.
ST TISOTS view) gy |
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(6)

G) is the preferred means of protest
adopted in the modern industrial
society.

TR~ TS 27 T TR eve
(xR
() Spontaneous outburst
Fo: S KR
(i) Candle march
TR Crerm
(iii) Organized and disciplined group
protest
Trafde S x@m waw Rear
(iv) Ringing bells
o1 /N
2. Answer the following questions : 2x5=10
O RPTRY Ted fra

(a) What 1is the difference between
industrialization and urbanization?

SN T TRNFR Tore M & 9
(b) Define industrial sociology.,

ST TS g faay |
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(7)

(c) Write any two characteristics of
industrial bureaucracy.

WW@IWWI

(d) What do you  understand by
‘conciliation’?

‘ﬁr?—wrb’if?lzaﬁim?

(e) Suggest two measures to resolve
industrial conflict.

@mfﬁasvm’wmwazﬁ%mﬁmn

3. Write short notes on any four of the
following : 5x4=20
R R I BIRGR o B Bt forat -

(a) Industrial bureaucracy
SCIfAF SicaeTeR

(b) Informal sector
AP e

{c¢/) Trade Union
e =Y

(d) Industrial conflict

S

/401 ( Turn Over )
A

1w



(8)

(e) Labour relations

W o

() Industrialism
SrHISRAM

4. Answer any four of the following questions :
10x4=40

wore AR R e wif<ot o e fran
(a) Discuss the impacts of globalization on
industries in post-Independent India.

FRCATET SRET TSR (NAFTIT AORFTR

TS 90 |

(b) Nlustrate the functions of trade union in
the industry.
T Oee Srmere Ifne ke IR m
I

(c) Discuss the labour policies of post-
Independent India.
FACAET SRES AW IHASY GO S WAl
91

(d) Sketch out the  history of
industrialization in India.

TS ST S g 34 |
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(9)

(e) Elaborate the role of collective

(g)

(h)

-300/401

bargaining and adjudication in resolving
industrial conflict,

ST e MRS 71-7 o Sfdfacfra
BT 36 9

Discuss the role of informal sector in
industrialization in India.

SREH  SrNTITe SAPRIAE  cwag SR
SIICETST 97 |

Is Industria] Sociology a science or an
art? Comment.

WWWGW?WWW

Hlustrate the differences between
post-industria] society and industria]
society.

Tes-SraIe T e CciDEI ) rg—
AR NEPTR BRI O 3961 7 |
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(9)

(e) Elaborate the role  of collective
bargaining and adjudication in resolving
industrial conflict.

Swie RS MY ey e Sifafeistr
SFeRe et 4y

() Discuss the role of informal sector in
industrialization in India.

SIS 354 |

{g) Is Industrial Sociology a science or an
art? Comment.

Wwﬁ@mﬂwwmﬁw |

(h) Illustrate the differences  between
post-industrial society and industrial

society.
VS-Sl e wR S e Tee
AP AT ST T 966 39y |

L s

er)
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